CH353 - Physical Chemistry I
Spring 2015, Unique 51170

Quiz 5, 24 April 2015

The synthesis of ammonia gas from hydrogen and nitrogen gases is one
of the most important modern industrial reactions. 500 million tons of
ammonia are synthesized every year; the energy required to run the
reactors in which this is done accounts for approximately 2% of the
world’s total annual energy use. It is therefore extremely important that
this reaction go as far as completion as possible.

Explain in as much quantitative detail as possible, ideal reaction

conditions for the synthesis of ammonia from hydrogen and nitrogen
gases. The following information may be useful.
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